AA18 Answers to Selected Exercises

3. m=— g: falls 74. m = — g; falls  75. undefined slope; vertical ~ 76. m = g; rises
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2 Gr—5f(x)=20=10
87. a. y — 31.1 = 0.78(x — 10) ory — 389 = 0.78(x — 20)  b. f(x) = 0.78x + 233 ¢ 54.5%
88. a. y — 452 = 0.65(x — 10) or y — 51.7 0.65(x — 20) b. f(x) = 0.65x + 38.7 ¢ 61.45%

89. 8 &b. [y, Eypectancy for United States 5 E(X) = 0215x + 65.7 90. Answers will vary due to rounding. p
Males, by Year of Birth . a&b. Expectancy for United States + £(X) = 0.17x + 729 or E(x) = 0.17x + 73
Females, by Year of Birth 1
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c. 78.6yr Birth Years after 1960
¢ 83.1yror832yr 3
91. Answers will vary; an example is y = —2.3x + 255, where x is the percentage of adult females who are literate and y is under-five mortality per
thousand.; Predictions will vary. :
100. m = 2 0L m = -3 102 m = -3 103. m = 3
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b. 39 ¢ a = —2296876741 d
S b = 260.5633751 ..
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105. does not make sense 106. does not make sense 107. does not make sense 108. makes sense 109. false 110. false 3
111. true 112. false 113. coefficient of x: —6; coefficient of y: 3 114. coefficient of x: 1; coefficient of y: —2 116. E = 24M —20 %
8. y=2x+ Tor f(x) =2x + 7 119. 4x —y—-17=0 120. 5

Section 2.4
Check Point Exercises

Ly-5=3x+2);y=3x+1lorf(x)=3x+11 223 b 3x- y=0 3. m=025;The number of men living alone increased at@

rate of 0.25 million per year. The rate of change is 0.25 million men per year. 4. a.l b.7 ¢.4 5. 0.01 mg per 100 ml per hr
Exercise Set 2.4
£y-2 =2x—4)y=2x-6orf(x)=2x—6 2 y—4=-2(x-3);y=-2x+100r f(x) = —2x + 10

~ 1 1 1 1 1 5 1 5
dy-4=—"(x-2:y=-= =-= ) —2= iy=-x+= =—xr+=
,_‘ky 2(x 2);y 2.r+50rf(,r) 2:4—5 4. y—-2 5{.t+1).} 21+20rf{x} 2x+2
S.)y+10=—4(x + 8); y = —4x — 42 6. y+7T=-5x+2);y=—-5x—-17 T.y+3==5x-2);y=-5x+7

8.y-2=-3x+4)y=-3x-10 O)y-2=

L

(x+2);2x—-3y+10=0 lﬂ.}'~3=%(x+]);3x—2y+9=0
I y+7=-2x-4d)2x+y-1=0 12.y+9=7x—5;7x-y—44=0 B3 146 1510 167 Pf% 18. 2

19.f(x) =5 20 f(x) =6 L) f(x) = —%x 1 .2 fix)= —%: + 33—3 23. f(x) = —%x -2 24 f(x)= —ix -6
13; P(x) = —12x + 47  26. P(x) = 1.3x + 23 27. 137; There was an average increase of approximately 137 discharges per year. i3
28. —132; There was an average decrease of approximately 132 discharges per year. 29. a. 142 b. overestimates by 5 discharges per year,

30. a. —96  b. underestimates by 36 discharges per year



37. a. The product of their slopes is —1.
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38. makes sense

44. a.

39. makes sense
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Mid-Chapter 2 Check Point

1. not a function; domain: {1, 2}; range: {6, 4, 6}
'~ range: {0 = y = 3} or [0, 3]
~ 5. not a function; domain: {-2, -1, 0, 1, 2}; range: {2, —1, 1, 3}

7. yis a function of x.

11. (-o0,4]
21. (-6,2)
25,

12. —6and 2

22. negative
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Answers to Selected Exercises

; The lines now appear to be perpendicular.
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40. does not make sense

-1ifxs0
2+ 1ifx>0
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2. function; domain: {0, 2, 3}; range: {1, 4}
4. not a function; domain: {x|-3 < x = 4} or (=3, 4]; range: {y|-1 < y < 2} or[-1,2]
6. function; domain: {xx < 1} or(—oc0, 1]; range: {yly = =1} or [~1, o)

37. a. f(—x) = —2x* — x — 5;neither

39. f(x)

4. a. 0.16

41. makes sense

S =x—4

= ~2x —
42, f(x) = —%x =3
b. 0.16;0.16; minute of brisk walking

B 3
42. A 43. 7

¢. The graph in part (b) is the graph in part (a) shifted down 4 units.

¢. The graph in part (b) is the graph in part (a) shifted to the right 2 units.

¢. The graph in part (b) is the graph in part (a) reflected across the y-axis.

3. function; domain: {x|-2 = x < 2} or [-2,2);

8. yisnotafunctionof x. 9. No vertical line intersects the graph in more than one point.  10. (—o0, )
13.3 14 (—00,-2) 15 (-2, 00) 16. -2 17.4 18.3 19. —-7and3  20. —6and2
23. neither 24, —1
26. J‘=__-2_:!. = 21 "+"f..'_'_1_-?+ NRER 2& y:%x—ly

Jw =

b. 50

b. —4x-2h+1,h#0

38. a. 30

5 40 f(x)=2x-3 4L f(x)=3x-13
43. The lines are parallel.

45. 2




